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 The answer key      نموذج الإجابة 

Part Question 
number 

The answer Mark 

 

 

 

 

 

 

Part 1 

Q1 b) 70 cm³  

 

 

 

 

 

 

4 marks 

each 
 

Q2 d) 4 + 
810 + 

4100 +
61000  

Q3 a) 4.04 

Q4 c) 218 × 28 

Q5 b) 42.9 

Q6 a) 0.7 + 0.53 = 1.23 

Q7 d) 400 × 30 = 12,000  

Q8 b) 3.4 × 10³            

d) 34 × 10²                             

Q9 c) 144 miles 

Q10 a) 0.003 is 
𝟏𝟏𝟎  of 0.03 

Q11 c) 0.24 

Q12 b) Volume 

Q13 c)  10 × 10 × 10 × 10                        

Q14 a) (4×3)×2 = 4×(3×2) 

Q15 d) 
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Part 2 

Q1                              4    1         

     1, 9 3 1 

 ×            5 
                            9 ,  6  5  5 

 

 

 

8 marks 

Each step 1 

point 

Q2  18,000 ÷ 60 = 300 
 
 

 

7 marks 

 

Q3 4. 8 × 104 = 

4.8 × 10 ×10 ×10 ×10 

48,000 

 

8 marks 

Q4              

                 61 × 22 = 

61 × 2.2 = 134.2 

                61 × 0.22 = 

 

 

 

7 marks 

Q5 533 ÷ 41 = a 
a = 10 + 3          
a = 13 
                      41 × 10 = 

 
                      41 × 3 = 
 
 
 
 

 

 

10 marks 

 

 

 

 

 

 

     

1342 

13.42 

533 

410 

123 

123 

000 



 

 

 

 

 


